Day 8.2 Manipulating K

Friday, March 15, 2019 7:28 AM
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1. The following equilibrium concentrations were observed for the reaction at
127°C:

| Ny(g) + 3Hx(g) <> 2NHs(g) OViginal
64‘” [NH3]=3.1x102 M [N2] =8.5x 10 M [H2] =3.1x10°M

a. Calculate the value of K at 127°C for this reaction.
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b. Calculate the value of K at 127°C for the reaction:
2 NHs(g) <> Na(g) + 3 Hz(g)
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c. Calculate the value of K at 127°C for the reaction given by the equation:
% Na(g) + 3/2 Ha(g) <> NHs(g)
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2. At 25°C, Kc = 2.2 * 107 for the reaction ICl (g) €2 % 12(g) + % Cl2(g8) Of"9inal

a. Calculate Kcat 25°Cfor 21Cl (g) €= I2(g) + Cl2(g)

Mult: by 2 IL —‘(Z-Z X lo ‘3)L=(\4.8 x{0 ~6

b. Calculate Kcat 25°Cfor2 12 (g) +2 Cl2(g) €2 41Cl (g)
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3. Given the following data at 25°C

W+ Bra(g) €—> 2NOBr (g) Kc=2.0*10°
i# 2NO (g 5(g) + O3 0 *10
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Calculate Kc for the following reaction:

GI O0AL %Na(g) +%02(g) +%Bra(g) €= NOBr (g)
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